1st Semester Final – Hints - Kinematics
You’ll get either a position-time graph or a velocity-time graph.


I think the v-t graph is more instructive in that you can take a derivative (slope, sort of) or an integral (area, sometimes) and get something meaningful. 

Slope: 
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Area? Here be careful…

(a) If you take the integral from 
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(b) Now if the v-t graph goes below the time axis from 0 to 3 seconds, the 

area bounded by the velocity graph and the time axis will give 

distance traveled (not displacement). Think of the area below the t-axis 

as ‘negative displacement.
Then there’s the special case of constant acceleration. Well, since we also need to test on rotational kinematics and we don’t have time to test on everything… 

We’ll either be using:  
[image: image5.wmf]2

1

00

2

0

22

0

2

2

f

if

satvts

vatv

vvax

vv

v

=++

=+

=+D

+

=

 or we’ll be using:  
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Probably not both! There’s not enough time to test on everything, so Mr R will probably…

Well, what about the Law of Falling Bodies and Vectors? Well… if we ask one big projectile motion problem with questions like: 

(a) What is the maximum height?

(b) What is the range of the projectile?’

(c) What is the velocity at the top?

(d) What is the speed at the top?

(e) When does the cannonball hit the ground?

(f) What angle does the arrow make when it sticks into the ground (or castle wall)?

then…


that ought to take care of a lot of physics skills!
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